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travel

Ilgiocodei percorsi e dei numeri binari con le palline colorate.

The coloured trackand binary numbers ball game.

Lejeudes parcoursetdes nombres binaire avec des billes colorées.

Das Labyrinth-Spiel und das bindre Zahlen mitden bunten Kugeln.
Eljuegodelostrayectosylos niimeros binarios con las bolitas coloreadas.
Ojogodostrajetos e dos niimeros binarios com bolas coloridas.

Kolorowy tor i zabawa z systemem binarnym.
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@ Rami travel tiinsegna a contare conil sistema binario
(quello dei computer)

Noisiamo abituatia contare conil sistema decimale, costituito
dadieci numeri (da0a9), mentreil sistema binario & costituito
da due numeri (O e 1) ma con questi si possono scrivere tutti
gli altri numeri, infatti, tutti i computer che usiamo a casao a
lavoro utilizzano il sistema binario e sono in grado di risolvere
qualsiasi tipo di calcolo, anche i piti complicati.

Grazie a Rami travel potrai imparare facilmente a trasformare
i numeri che tu ben conosci (sistema decimale) in numeri
del sistema binario. Le caselle a sinistra del Rami travel
rappresentano i numeri binari (fig. 1), mentre le caselle
alla base del gioco, contraddistinte dai numeri da 0 a 15,
rappresentano il sistema decimale (fig. 2).

Vediamo ora un esempio:

Ramitravel
sistema | |, sistema
binario significa decimale
1 |ungruppodi8unita 8
1 |ungruppodi4unita 4
0 nessun gruppo di 2 unita 0
0 nessun gruppo di 1 unita 0
12

COME SI LEGGE UN NUMERO BINARIO: 1100 si legge uno, uno, zero, zero e
corrisponde al 12 del sistema decimale.



Vediamo ora come passare dal sistema decimale al sistema binario
applicando il metodo delle divisioni successive:

12 : 2 = 6 resto = 0
6 : 2 =3 resto = 0
3 :2 =1 resto = 1
1 : 2 =0 resto = 1
Se mettiamoin ordineiresti ottenuti partendo dall’'ultimo e mettendolo

come primo a sinistra, otteniamo: 1100 che & un numero binario che &
ugualeal2indecimale.

Ora prova tu a scrivere in numeri binari (€ pili facile se inizi dalle 8 unita):
scegliun gruppo gruppo gruppo gruppo scegliun gruppo gruppo gruppo gruppo

numero  di8 di4 di2 dil numero  di8 di4 di2 dil
da0al5 unita unita unita unita da0al5 unita unita unita unita

Qoo

scegliun gruppo gruppo gruppo gruppo scegliun gruppo gruppo gruppo gruppo
numero di8 di4 di2 dil numero di8 di4 di2 dil
da0al5 wunitd  unitd  unitda  unita da0al5 wunitd  unitd  unitd  unita

Se non seisicuro del risultato prova con Rami travel a far andare una pallina
nella casella diarrivo e guarda se la combinazione di O e 1 che hai indicato &
giusta.

Bravo! Ora sai contare come i COMPUTER!

COME SIGIOCA

Gara dei numeri: Consiste nel riempire le caselle d’arrivo seguendo I'ordine
numerico crescenteda 0 a 15 eritorno, nel minor tempo possibile senza mai
saltare una casella.

Gara dei colori: Consiste nel raggiungere tutte le caselle con due palline
degli stessi colori.



Rami travel teaches children to countwith the binary
system (the one used by computers)

We are used to counting with the decimal system, made up of
ten numbers (0 to 9). The binary system is made up of only two
numbers (0 and 1) but with these two numbers all the other
numbers can be written. In fact, all the computers that we use
at home or at work use the binary system and they are able to
solve any type of calculation, no matter how complex.

Thanks to Rami travel you can easily learn to transform the
numbers that you know well (decimal system) into numbers
from the binary system. The slots on the left of Rami travel
represent binary numbers (pic. 1), while the slots at the
bottom of the game, marked O to 15, represent the decimal
system (pic. 2).

Let’slook atan example:

Ramitravel
binary decimal
system | Means system
1 | onegroup of 8 units 8
1 | onegroup of4 units 4
0 no group of 2 units 0
0 no group of 1 unit 0
12

HOW TO READ A BINARY NUMBER: 1100 is read one, one, zero, zero, and it
corresponds with the number 12 in the decimal system.



Now let’s see how to go from the decimal system to the binary system
applying the method of successive divisions:
12 : 2 = 6 leftover=
6 : 2 = 3 leftover=
3 : 2 =1 |leftover=
1 : 2 = 0 leftover= 1
If we putthe numbers left over in order starting from the last one, putting

itasthe first from the left, we get: 1100. This is the binary number that
corresponds with the decimal number12.

= OO

Now try to write in binary numbers (it’s easier if you start with groups of 8
units):

choosea groups groups gruppo groups choosea groups groups groups groups
number of 8 ofg di2 of1 number of8 ofg of2 of1
fromOto15 units units unita unit fromOto15 units units units unit
choosea groups groups groups groups choosea groups groups groups groups
number of 8 ofg of2 of1 number of8 of4 of2 of1
from0to15 units units units unit from0Oto15 units units units unit

Ifyou’re not sure of the result, try using Rami travel to make the ball go into
theright slotand see if the combination of zeros and ones that you put is
right.

Well done! Now you know how to count like a COMPUTER!

HOW TO PLAY

Number game: This consists in filling the arrival boxes following increasing
numerical order from O to 15 and return, in the shortest time possible
without ever skipping a box.

Colour game: This consists in reaching all the boxes with two balls of the
same colours.



@ Avec Rami travel on apprend a compter avecle
systéme binaire (celui des ordinateurs)

Nous sommes habitués a compter avec le systéme décimal,
constitué par dix numéros (de 0 a 9), tandis que le systéme
binaire est constitué par deux numéros (0 et 1) mais avec ceux-
ci on peut écrire tous les autres numéros. Tous les ordinateurs
quenous utilisonsala maison ou au travail emploientd’ailleurs
le systéme binaire et sont capables de résoudre tous les types
de calcul,méme les plus complexes.

Grace a Rami travel tu pourras facilement apprendre a
transformer les numéros que tu connais bien (systéme
décimal) en numéros du systéme binaire. Les cases a gauche
du Rami travel représentent les numéros binaires (image 1),
tandis que les cases a la base du jeu, de 0 a 15, représentent le
systéme décimal (image 2).

Image 2

Voyons maintenant

unexemple:
Ramitravel
systéme | . . systéme
binaire | Signifie décimal
1 | ungroupede 8 unités 8
1 | ungroupedi4 unités 4
0 aucun groupe di 2 unités 0
0 aucun groupe di 1 unité 0
12

COMMENT LIRE UN NUMERO BINAIRE : 1100 est lu un, un, zéro, zéro et
correspond au 12 du systéme décimal.



Voyons maintenant comment passer du systéme décimal au systéme binaire
enappliquantla méthode des divisions successives:

12 : 2 = 6 reste = 0
6 : 2 =3 reste = 0
3 : 2 =1 reste = 1
1 : 2 =0 reste = 1
Sinous mettonsdans’'ordre les restes obtenus en partantdu derniereten le

mettant comme premier a gauche, nous obtenons: 1100 qui est un numéro
binaire correspondanta 12 en décimal.

Essaie toi-méme maintenant a écrire les numéros binaires (c’est plus facile si
tucommencesavec les 8 unités):

choisisun gruppo groupe groupe groupe choisisun groupe groupe groupe groupe
numéro dig deg de2 de1 numéro  de8 deg de2 de1
de0al5 wunitd  unités unités  unité de0al5 unités unités unités  unité
groupe groupe groupe groupe groupe choisisun groupe groupe groupe groupe
de8 de8 deg de2 de1 numéro de8 deg de2 de1
unités  unités  unités unités  unité de0al5 unités unités unités  unité

Situ n’es pas sirdu résultat essaies avec Rami travel a faire arriver une bille
alacasedarrivée et regardes sila combinaison O et 1 que tu as indiquée est
juste.

Bravo ! Maintenant tu sais compter comme les ORDINATEURS !

REGLES DU JEU

Course des chiffres: Elle consiste a remplir les cases d’arrivée en suivant
I'ordre numérique croissantde 0 a 15 et retour, le plus rapidement possible
etsansjamais sauterde case.

Course des couleurs: Elle consiste a atteindre toutes les cases avec deux
billes de laméme couleur.



@ Rami travel bringt dir bei wie man mitdem
Dualsystem (das System der Computer) zdhlen kann

Rechenaufgaben zu meistern, auch die schwierigsten.

15, das Dezimalsystem darstellen (Bild 2).

ein Beispiel an:

Rami travel

" |bedeutet

Wir sind es gewohnt mit dem Dezimalsystem zu zdhlen,
welches aus 10 Zahlen besteht (von O bis 9), wahrend das
Dualsystem aus zwei Zahlen besteht (0 und 1), mit denen
man jedoch alle anderen Zahlen schreiben kann. In der Tat
wenden alle von uns benutzten Computer, ob zu Hause oder
auf der Arbeit, das Dualsystem an und sind in der Lage alle

Mit Rami travel wirst du ganz leicht lernen, wie man die
gutbekannten Zahlen aus dem Dezimalsystem ins Dualsystem
bringen kann. Die Zielfelder links vom Rami travel stellen das
Dualsystem dar (Bild 1), wéhrend die Basisspielfelder, von O bis

Schauen wiruns nun mal

Dezimal-
system

1 |eine Gruppe von 8 Einheiten

8

1 |eineGruppe von4 Einheiten

4

0  |keine Gruppevon 2 Einheiten| 0
0  |keine Gruppe von 1Einheit 0
12

WIE LIEST MAN EINE DUALZAHL: 1100 liest man Eins, Eins, Null, Null und

entsprichtder Zahl 12 des Dezimalsystems.



Schauen wiruns nun einmal an, wie man vom Dezimalsystem zum
Dualsystem kommtindem man die Divisionsmethode anwendet:

12 : 2 = 6 Rest =
6 : 2 =3 Rest =
3 : 2 =1 Rest =
1 : 2 =0 Rest = 1

Wenn wir nun die errechneten Reste ordnen, indem wir den zuletzt

errechneten alsersten links schreiben, so erhalten wir: 1100, eine Dualzahl,
die der Dezimalzahl 12 entspricht.

= OO

Nunversuche du einmal die Dualzahlen zu schreiben (es ist einfacher wenn
du mit 8 Einheiten beginnst):

wahle  Gruppe Gruppe Gruppe Gruppe wahle  Gruppe Gruppe Gruppe Gruppe
eineZahl von8 von4 von2 voni eineZahl von8 von4 von2 voni
vonObis 15 Einheiten Einheiten Einheiten Einheit vonObis 15 Einheiten Einheiten Einheiten Einheit

QMoo

wdhle  Gruppe Gruppe Gruppe Gruppe widhle Gruppe Gruppe Gruppe Gruppe
eineZahl von8 vong von2 voni eineZahl von8 von4 von2 voni
vonObis 15 Einheiten Einheiten Einheiten Einheit vonObis 15 Einheiten Einheiten Einheiten Einheit

Wenn du dir nicht sicher bist, versuche doch einmal mit Rami travel eine
Kugelins Zielfeld zu bringen und schau dir an, ob die von dir angegebene
Kombinationvon 0 und 1 dierichtige ist.

Gutbgemacht! Jetzt kannst du wie die COMPUTER zdhlen!

SPIELREGELN

Zahlenwettkampf: Dieses Spiel besteht darin, dass man die Zielkdstchen
der Reihe nach von 0 bis 15 und wieder zuriick in der kurzmoglichsten Zeit
auffiillen muss, ohne ein Kastchen zu tiberspringen.

Farbenwettkampf: Dieses Spiel besteht darin, alle Kastchen mit zwei
Kugeln dergleichen Farben.



@ Rami travel te enseiia a contar con el sistema binario
(el mismo de los ordenadores)

Nosotros estamos acostumbrados a contar con el sistema
decimal, constituido por diez cifras (del 0 al 9), mientras que
el sistema binario esta constituido por dos (0 y 1), aunque con
él se pueden escribir todos los otros ndimeros. De hecho, todos
los ordenadores que utilizamos en casa o en el trabajo utilizan
el sistema binario y son capaces de resolver cualquier tipo de
calculo, incluso los mds complicados.

Gracias a Rami travel podrds aprender féacilmente a
transformar los nlimeros que conoces bien (sistema decimal)
en cifras del sistema binario. Las casillas de la izquierda del
Rami travel representan los nimeros binarios (fig. 1), mientras
que las casillas en la base del juego, indicadas con los nimeros
del 0 al 15, representan el sistema decimal (fig. 2).

Veamos un ejemplo:

Ramitravel
sistema
decimal
ungrupode 8 unidades 8
ungrupode 4 unidades 4
ninglingrupode 2 unidades| 0
ningtin grupo de 1 unidad 0
12

significa

COMO SE LEE UN NUMERO BINARIO: 1100 se lee uno, uno, cero, ceroy
corresponde al 12 del sistema decimal.



Veamos ahora cémo pasar del sistema decimal al sistema binario aplicando
el método de las divisiones sucesivas:

12 : 2 = 6 resto =
6 : 2 =3 resto =
3 :2 =1 resto =
1 : 2 =0 resto = 1

Siponemos en orden los restos obtenidos partiendo desde el Gltimoy

colocandolo como el primero a laizquierda, obtenemos 1100, que esun
ndmero binario que esiguala 12 en decimales.

= OO

Ahora prueba td a escribir en nimeros binarios (es mas fcil si comienzas
desde las 8 unidades):

escogeun grupo  grupo  grupo  grupo escogeun grupo  grupo  grupo  grupo
nimero  de8 deg de2 de1 nimero  de8 deg de2 de1
del0a15 unidades unidades unidades unidad del0a15 unidades unidades unidades unidad
escogeun grupo  grupo  grupo  grupo escogeun grupo  grupo  grupo  grupo
nimero  de8 deg de2 de1 nimero  de8 deg de2 de1
del0al5 unidades unidades unidades unidad del0a15 unidades unidades unidades unidad

Sinoestdsseguro del resultado, prueba con Rami travel a hacer rodar la
canica hacia la casilla de metay mira sila combinacién de 0y 1 que has
indicado es correcta.

iMuy bien! jAhora sabes contar como los ORDENADORES!

COMO SE JUEGA

Competicién de los niimeros: Consiste en llenar las casillas (box) de llegada
siguiendo el orden numérico creciente de 0 a 15 y retorno, en el menor
tiempo posible sin saltar nunca una casilla.

Iy

Competicion de los colores: Consiste en alcanzar todas las casillas (box) con
dos bolitas de los mismos colores.



@ O Rami travel ensina as criancas a contarcomo
sistema binario (que é usado pelos computadores)

Estamos habituados a contar com o sistema decimal, formado
por dez algarismos (0 a 9). O sistema bindario é composto por
apenas dois algarismos (0 e 1), mas com esses dois algarismos
todos os outros nimeros podem ser gravados. De facto, todos
os computadores que usamos em casa ou no trabalho usam
o sistema bindrio e sdo capazes de resolver qualquer tipo de
calculo, por mais complexo que seja.

Gracas ao Rami travel, pode-se aprender facilmente a
transformar os ndmeros que bem conhecemos (sistema
decimal) em ndmeros do sistema bindrio. Os slots a esquerda
no Rami travel representam ndmeros bindrios (foto 1),
enquanto osslots na parte inferiordo jogo, marcadosde O a 15,
representam o sistema decimal (foto 2).

Vejamos um exemplo:

Ramitravel
sistema| . sistema
binario |Significa decimal
1 |umgrupode 8 unidades 8
1 |umgrupode 4 unidades 4
0 nenhumgrupode 2 unidades| 0
0 nenhumgrupode 1unidade | 0

12

COMO LER UM NUMERO BINARIO: 1100 |&-se: um, um, zero, zero e
corresponde ao niimero 12 no sistema decimal.



Agoravamos ver como ir do sistema decimal para o sistema binario
aplicando o método de sucessivas divisdes:

12 ¢ 2 =6 sobra =
6 : 2 =3 sobra =
3 :2 =1 sobra =
1 : 2 =20 sobra = 1

Se colocarmos os nlimeros sobrantes por ordem a partirdo Gltimo,

colocando-os como os primeiros da esquerda, obteremos: 1100. Este é o
ndmero binario que corresponde ao niimero decimal 12.

= OO

Agora tenta escrever em nimeros binarios (é mais facil comecando com
grupos de 8 unidades):

escolheum grupos grupos grupos  grupos escolheum grupos grupos grupos  grupos
niimero de8 deg de2 de1 niimero de8 deg de2 de1
de0a15 unidad s s P de0al15 unidad . s s
escolheum grupos grupos grupos grupos escolheum grupos grupos grupos grupos
niimero de8 deg de2 de1 nimero de8 des de2 de1
de0al5 unidad o s g de0al5 unidad o g s

Senaotiveresa certeza doresultado, tenta usar o Ramitravel parafazera
bolaentrarnoslotcorreto e vé se acombinacdo de zeros e uns que colocaste
estd correta.

Muito bem! Agora sabes contar como um COMPUTADOR!

COMO JOGAR

Jogo de niimeros: consiste em preencher as caixas de chegada seguindo o
aumento da ordem numérica de 0 a 15 e voltar,no menor tempo possivel,
sem nunca saltar uma caixa.

Jogo de cores: consiste em alcancar todas as caixas com duas bolas da
mesma cor.



@ Wersja podrézna Rami uczy dzieci liczenia w systemie
binarnym (uzywanym przez komputery)

" JesteSmy przyzwyczajeni do liczenia w systemie dziesietnym,
ktory stworzony jest z dziesieciu cyfr (0-9). System binarny
sktada sie jedynie z dwoch cyfr (0 i 1), ale umozliwia zapisanie
za ich pomoca kazdej innej liczby, W zasadzie wszystkie
komputery, ktoérych uzywamy w pracy czy w domu uzywaja
systemu binarnego i s3 w stanie dokona¢ dowolnych kalkulacji,
niewaznie jak skomplikowanych.

Za pomoca wersji podréznej Rami mozesz z tatwoscig nauczy¢
sie przenosic liczby, ktére dobrze znasz (w systemie dziesietnym)
na liczby z systemu binarnego. Obszary po lewej stronie wersji
podréznej Rami przedstawiajg system binarny (ilustracja 1),
podczas gry obszary na dole gry, zaznaczone od 0 do 15,
przedstawiaja system dziesietny (ilustracja 2).

Ilustracja 2

Spodjrzmy na przyktad:
Rami travel
system . system

binarny zZnaczenie 171 -‘
1 |jednagrupaz8jednostek 8

1 |jednagrupaz4jednostek 4

0 zadnej grupy z2 jednostek| 0
0 zadnej grupy z 1 jednostki 0
12

JAKODCZYTYWAC SYSTEM BINARNY: 1100 moze by¢ czytane jeden, jeden,
zero, zero i odpowiada liczbie 12 w systemie dziesietnym.



Zobaczmy zatem w jaki sposob przenies¢ dana liczbe z systemu dziesietnego
do systemu binarnego, uzywajac metody dzielenia:

12 : 2 = 6 reszta = 0

6 : 2 =3 reszta = 0

3 : 2 =1 reszta 1

1 :2 =0 reszta 1
Jesli utozymy liczby z lewej strony kolumny po kolei, zaczynajac od tej z lewej
strony na dole, otrzymamy: 1100. Jest to binarny numer, ktéry odpowiada
liczbie 12 w systemie dziesietnym.

Teraz sprobuj napisac liczby w systemie binarnym (bedzie tatwiej jesli
zaczniesz od grup z 8 jednostek):

wybierz  grupy grupy grupy grupy wybierz  grupy grupy grupy grupy
liczbe 28 z4 72 z1 liczbe z8 z4 72 z1
0d0do15 jed k jed k jed k jed K 0d0do15 jed k jed k jed k
wybierz  grupy grupy grupy grupy wybierz  grupy grupy grupy grupy
liczbe 28 z4 22 21 liczbe z8 24 22 z1
0d0do15 jed k jed k jed k jed ! 0d0do15 jed k jed k jed k jed k

Jesli nie jeste$ pewny rezultatu, sprobuj uzy¢ podréznej wersji Rami by
zobaczyc czy kulka wyladuje w odpowiedniej przegrodzie i przekonac sie czy
kombinacja zer i jedynek, ktérg wprowadzites jest poprawna.

Dobra robota! Teraz wiesz jak liczy¢ jak KOMPUTER!

JAK GRAC

Gra liczbowa: Ta gra polega na tym by wypetniac kolejne przegrody
zaczynajac rosnaco od 0 do 15 i spowrotem, w jak najkrétszym czasie, bez
zadnej pomyiki.

Gra koloréw: Ta gra polega na tym by doprowadzi¢ do wszystkich przegréd
dwie kulki w tym samym kolorze.



